D. DX. DT &%l

D. DX. DT Series

D EXBEA
General purpose
N REFE
Easy to install

O AFEMBEFEEMEFNEMNE
For electronic equipments and measuring instruments
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#ME HJE Rated Voltage 250VAC

T {E¥5Z Operating Frequency 50/60Hz

%% Bt Rated Current 1A-200A

i E IR (— 5 ) 1500VDC (line/line)
Test Voltage (1min) 1500VAC (line/ground)
Sf&Z 3 Climatic Category 25/085/21
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Model

© t Capacitance Current Resistance ] ; LB (3657)
A Input | H Output uxen (nF) <(mA) MQ) Dl ek appendi; P36
= =t

DL-1D3 1 47 0.8 2 B1
DL-2D1 L =) 2 3.3 0.5 1 A1
DL-3D1 = = 3 3.3 0.5 1 A1
DL-3D3 L =0 3 3.3 0.5 1 B1
DL-6D1 L = 6 3.3 0.5 1 A2
DL-6D11 (= = 6 3.3 0.5 1 A1
DL-6D3 L =) 6 3.3 0.5 1 B1
DL-10D L =L 10 3.3 0.5 1.5 3 A2
DL-15D1 P = 15 3.3 0.5 1.5 2 A2
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Modal Capmaitance Rostange | o, Cireut | Dimension fo.
o sance | piagramig.| 2w
DL-15D3 = = 15 3.3 0.5 1.5 2 B2
DL-20D11 & & 20 47 0.8 0.44 2 D1
DL-20D3 i = 20 3.3 0.5 15 2 B2
DL-25D1 & & 25 3.3 0.5 15 2 D1
DL-30D1 & & 30 3.3 0.5 15 2 D1
DL-35D3 & & 35 47 0.8 15 2 E2
DL-50D3 & & 50 4.7 0.8 15 2 E2
DL-60D3 & & 60 4.7 0.8 15 2 E2
DL-100D3 & & 100 6.8 1.0 1.5 2 E4
- DL-120D3 & & 120 6.8 1.0 15 2 E4
DL-150D1 & & 150 6.8 1.0 15 2 G7
DL-150D3 & & 150 6.8 1.0 1.5 2 E4
DL-200D1 & & 200 6.8 1.0 1 2 G4
DL-1DX13 i i 1 22 0.5 1 AX2
DL-1DX16 o a 1 5.0 0.8 5 AX1
DL-1DX31 o a 1 47 0.8 2 BX1
DL-3DX31 e g 3 2.2 0.5 1 BX1
DL-6DX1 A A 6 22 0.5 1 AX3
DL-10DX1 ] g 10 2.2 0.5 1 AX3
DL-20DX1 g g 20 3.3 0.5 1.5 2 AX4
DL-3DT g g 3 3.3 0.5 15 4 1
DL-6DT f g 6 33 0.5 15 4 11
DL-8DT g g 8 6.8 1.0 0.15 4 12
DL-10DT L =L 10 47 0.8 0.47 3 13
DL-16DT e g 16 22 2.0 0.68 3 14

fig.3 fig.4 fig.5



D. DX. DT Series D. DX. DT &3] «3

(50 QMEERZ, IEC/CISPR No. 17 S HiR¥) Measured in 50 Q system, as IEC/CISPR No. 17 )
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